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QUESTION 1

What may be the cause if the value of inventory is greater than the value of the net working capital? 

A. Receivables are too high. 

B. Cost of goods sold (COGS) is too high. 

C. Inventory is too high. 

D. High level of obsolescence. 

Correct Answer: C 

 

 

QUESTION 2

A company that utilizes barges as a major mode of transportation would typically navigate in: 

A. global maritime routes 

B. land bridges 

C. inland waterways 

D. intermodal transportation 

Correct Answer: C 

 

 

QUESTION 3

Which of the following supply chain integrative processes assesses the repair and support of products? 

A. Product/service development launch 

B. Supplier relationship collaboration 

C. Life cycle support 

D. Reverse logistics 

Correct Answer: C 

 

QUESTION 4

A company has a line haul cost between Point A and Point B of $5 per mile. The distance between the two points is 750
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miles. 

What is the cost per hundredweight (cwt) for a shipment weighing 45,000 pounds? 

A. $0.12 

B. $5.00 

C. $8.33 

D. $9.00 

Correct Answer: C 

 

QUESTION 5

A port manager previously processed three 4,500 TEU ships simultaneously using three cranes, handling 110
containers per hour. The manager is now considering one 15,000 TEU post-Panamax ship using two new post-
Panamax cranes that can handle 100 containers per hour. 

What is the difference in processing times between these two vessels? 

A. The post-Panamax ship will take 47.7 hours longer to process. 

B. The post-Panamax ship will take 3.5 hours longer to process. 

C. The post-Panamax ship will be 3.5 hours quicker to process. 

D. The post-Panamax ship will be 47.7 hours quicker to process. 

Correct Answer: A 
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